Further Maths GCSE
Factor Theorem Questions
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(x —a) is a factor of 2x3 — 7ax + 3a

Work out the largest possible value of a.
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Use the factor theorem to show that (x — 1) and (x —4) are
factors of x3 — 21x + 20
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f(x) = x3 + ax? + bx + 24 for all values of x.

Two of the factors of f(x) are (x—2) and (x+3).

Work out the values of @ and b.
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Show that (x — 1) and (x — 4) are also factors of x3 — 10x2 + 29x — 20
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Show that (v — 2) is a factor of x° +8x” +x — 42
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Prove that, for all values of x, 2x2_8x+9>0
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2%+ ax? +bx + 150 factorises to (x+ c)z(x +d)

a, b, ¢ and d are positive integers and ¢ = 1

Work out the values of a, b, c and d.
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(x+3) isafactorof x> +6x%+ax— 12

Show that the value of a is 5
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Hence, factorise fully 22+ 6x2+ 5x— 12
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(x —5) is a factor of x*—6x?+ax—-20

Work out the value of a.




